PITT Qube KTZ-100X-AAA-O

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/14 16:01:40



PITT Qube

KTZ-100X-AAA-O

No. mE & - HME B Eff iBE

1 011615003  [KTH-100X #° ¥7° Z&{& ADC+yayh ¥ [1 17,100
NI

2 011807903 [25A 7°34° 43 PA244 2 600|PA-244(4971770-107274)

3 011558002  |KTH-80X #n" - Wb (3fd/AA-PAvE) S35C 4 700

4 011567802  [KTH-80X Aazly-l HJ-25(B)BSIC|1 9,400

5 011617202 |WTBiRd A CR 60° 6 1,500

6 011627301 [BAIRI LT DV b SPCT4.5 2 700

7 846211012 |EE&12 12 WHH04-4 2 200

8 827419012 [|"fAa+v kM12 M12 1% |2 200
f SWRM

9 011649201  [75v¥ AR TRALRIL b M8x50 SCM |4 300

10 011649302  [7h37yY4-¢ 8 A1100 PH14 (4 200

11 012320701  [KTH-80X AN R/8w £V NBR70° 1 400
(ROHS2)

12 011614801 |KTH-100X MtEAE  ZIENFERE ADC+yavh |1 8,600

13 011075002 [SE-100-AMtH7S vy xy CR 1 1,500

14  [011845003 [32A7°3%° 43 PA157 1 800|PA-157(4971770-102163)

15 011618804 |KTR-100 IRA 7 S5 ¥ T(G) 1 6,500

16 011559002 |KTH-80X / 7 4 1,400

17 012320801  [KTH-80X 78y MM -N° v4Y NBR 1 600
(ROHS2)

18 [011562603 [KTH-100X 4yA°3 HRFC 1 39,600

19 011649004  |KTH-100X 707 M -(KOSHIN) ADC Y3y h 1 16,200
"MADE IN
JAPAN"

20 011648802 |KTH-100Xi@&= FCD450 1 31,700

21 012153901 |[NATUTEF IMNT°VITATY) M8x35 A2- |3 500
80

22 012154002 |E@EE (HF5k) 8.1*17°T2 |3 200
MFZN Il -H.C

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/14 16:01:40




PITT Qube

KTZ-100X-AAA-O

No. mE SREZ - HME B Eff iBE
23 011626802 |KTH-100X IR A777%" (G) ADC 1 5,000
24 011826101  [SE-100 F¥y&n" M7 53 1 4,200
25 012320901  [KTH-100X 92" v30Yv4" NBR 1 400

¢ 104.5% ¢ 3.
5 (ROHS?2)
26 012732801 [KTZ-100X R—2 ¥ 3 N L2 1 27,700
27 842319008 [M8RFYvH+w h SWRM 6 200
28 743119083  |MAN LR ELBANAET I M12X45 SWRM 2 200
M12X45 3
Jni-p
29 743119084  |MAN It EELHBASAT W M12X50 M12x50 |2 200
SWRM
30 743119076  [MAN ISR ESERANERIL b M12x25 |2 200
SWRM
31 743119080  |MAN L ELBASNAET I M12X35 M12x35 [10 200
SWRM
32 743119063  |MAN It EELHBASNAT W M10X30 M10x30 [4 200
SWRM
33 743119067  [MAN ISR ESERANERIL b M10x40 2 200
SWRM
34 827419010 [A"AF v kM10 M10 17 |2 200
SWRM ={f
35 011056102  |[KTH-100X 4VA° 55@#999%- 0.3 BSP 1 200
36 011640501  [KTH-100X 417A° 55@E&099%- 0.1MM BSP1 2 200
37 012364201  [K420-DO-P 129"y EE 1 0
38 011620401 |[KTH-100X EHIE SPC 1 2,800
39 741305153  |HR)L M8*15 M8x15 3f& |1 500
4 SUS
40 012364301  [KTZ-100X-AAA-08%1R FhOIY740ks 1 300
41 011097903  |[KTH-100X Akv-+-(5%/3) SPC (¥473) |1 8,100
42 011763902  [SE-100 #97°Yv4” 43(G) ADC G#¥° 2 9,100
43 011618902  [SE-100A #v7°Yv4" (G-ADC) ADC 2 4,900
(0111477)
44 011047104 [SE-100 T dDF = 7JL(ADC) ADC 2 3,200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/14 16:01:40




PITT Qube

KTZ-100X-AAA-O

No. mE & g - ME ERE  Eff S
45  |011147801  |100A 197° Y4 ¥ v4y NBR 2 1,000
46 |940407120 [yt UnuK WEE 1,500
#72(48-127)
47  [012230701 [SERIOH A RAFIL SN EER S 300
#50+PET#16

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/14 16:01:40




